

# GCSE Maths – Algebra

# **Expanding Brackets**

Worksheet WORKED SOLUTIONS

This worksheet will show you how to work out different types of expanding brackets questions. Each section contains a worked example, a question with hints and then questions for you to work through on your own.

This work by <u>PMT Education</u> is licensed under <u>CC BY-NC-ND 4.0</u>



▶ 
 O 

 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O 
 Image: O







## Section A

### Worked Example

Expand the expression -7x(4a - 3y)

**Step 1**: Draw arrows from the terms outside the bracket to each of the terms inside the bracket, to show which multiplications need to be carried out.



**Step 2:** Compute required multiplications and sum them together.

 $-7x(4a - 3y) = [-7x \times 4a] + [-7x \times -3y] = -28ax + 21xy$ 

When two or more letters are multiplied, they are written alphabetically next to each other in the final answer.





### Now it's your turn!

If you get stuck, look back at the worked and guided examples.

- 1. Expand the following expressions:
- a) 4a(2b+2) 4a(2b+2) = 4a(2b) + 4a(2)= 8ab + 8a
- b) 6p(7q-8) **6p(1q-8)** = **6p(7q)** + **6p(-8)** = **42pq** - **48p**

c) 
$$-3a(-10d + 6a)$$

$$-3a(-10d+6a) = -3a(-10d) + (-3a)(6a)$$
  
= 30ad - 18a<sup>2</sup>

d) 
$$8x(-2x+3y) = 8x(-2x) + 8x(3y)$$
  
=  $-16x^2 + 24xy$ 

e) 
$$5ab(2a-6b^2)$$
  
**5ab(2a-6b^2) = 5ab(2a) + 5ab(-6b^2)**  
=  $|0a^2b - 30ab^3$ 

🕟 www.pmt.education

▶ Image: PMTEducation

 $\odot$ 



## **Section B**



Expand the binomial expression (x + 3)(x + 2)

**Step 1**: Expand the expression using the FOIL method. You can draw arrows to ensure that you have multiplied all the terms in the first bracket with all the terms in the second bracket.



Step 2: Write each multiplication and sum them together.

**F**:  $x \times x = x^2$  **O**:  $x \times +2 = +2x$  **I**:  $+3 \times x = +3x$ **L**:  $+3 \times +2 = +6$ 

 $(x+3)(x+2) = x^2 + 2x + 3x + 6$ 

**Step 3:** Collect any like terms.

 $x^{2} + 2x + 3x + 6 = x^{2} + 5x + 6$ 



www.pmt.education





**Now it's your turn!** If you get stuck, look back at the worked and guided examples.

2. Expand the following expressions:

a) 
$$(x+1)(x+8)$$
  
 $(x+1)(x+8) = x(x+8) + 1(x+8)$   $(x+1)(x+8)$   
 $= x^2 + 8x + x+8$   
 $= x^2 + 9x + 8$   
b)  $(a+2)(b-3)$   
 $(a+2)(b-3)$   
 $(a+2)(b-3) = a(b-3) + 2(b-3)$   
 $= ab-3a + 2b-6$   $(a+2)(b-3)$   
 $= 2p^2 + 2p + 5p+5$   $(a+2)(b-3)$   
 $= 2p^2 + 2p + 5p+5$   $(a+5)(c+1)$   
 $= 3xy + 2x - 12y - 8$   $(x-1)(2x+2)$   
 $= 3xy + 2x - 12y - 8$   $(x-1)(2x+2)$   
 $= 3(4x-2)(3x-5)$   
 $= (2x-6)(3x-5)$   $(2x-6)(3x-5)$   $(2x-6)(2x-5)$   
 $= (2x-2)(2x+5) - (6(3x-5))$   
 $= (2x-2)(2x+5) - (-14y+18)(2x+5)$   
 $= -14y(2x+5) + 18(2x+5)$   $(-14y+18)(2x+5)$   
 $= -14y(2x+5) + 18(2x+5)$   $(-14y+18)(2x+5)$   
 $= -14y(2x+5) + 18(2x+5)$   $(-14y+18)(2x+5)$   
 $= -28yz - 70y + 36z + 90$ 





### **Section C**







**Now it's your turn!** If you get stuck, look back at the worked and guided examples.

3. Expand the following expressions:

a) 
$$(5a + 4)^{2}$$
  
 $(5a + 4)^{2} = (5a + 4)(5a + 4)$   
 $= 5a(5a + 4)^{2} + 4(5a + 4)$   
 $= 25a^{2} + 20a + 20a + 16$   
b)  $(-2 + 6p)^{3}$   
 $(-2 + 6p)^{3}$   
 $(-2 + 6p)^{3} = (-2 + 6P)(-2 + 6P)$   
 $= 4 - 12P - 12P + 36P^{2}$   
c)  $(7x - 3y)^{2}$   
 $(7x - 3y)^{2}$   
 $(7x - 3y)^{2} = (7x - 3y)(7x - 3y)$   
 $= 49x^{2} - 21xy - 21xy + 9y^{2}$   
c)  $(7x - 3y)^{2} = (-8a + 2c)(-8a + 2c)$   
 $= 49x^{2} - 42xy + 9y^{2}$   
c)  $(7a + 2c)^{2} = (-8a + 2c)(-8a + 2c)$   
 $= 64a^{2} - 32ac + 4c^{2}$   
 $= 64a^{2} - 32ac + 4c^{2}$   
 $(-8a + 2c)^{2} = 4(-6a^{2} - 32ac + 4c^{2})$   
 $= 256a^{2} - 128ac + 16c^{2}$ 



### **Section D**



www.pmt.education









### Section E



www.pmt.education









**Now it's your turn!** If you get stuck, look back at the worked and guided examples.

5. Expand the following expressions:

a) 
$$(x+1)(x+3)(x-4)$$
  
 $(x+1)(x+3) = x(x+3) + 1(x+3)$   
 $= x^{2} + 3x + x + 3$   
 $= x^{2} + 4x + 3$   
 $(x+1)(x+3)(x-4) = (x^{2} + 4x + 3)(x-4)$   
 $= x^{2}(x-4) + 4x(x-4) + 3(x-4)$   
 $= x^{2}(x-4) + 4x(x-4) + 3(x-4)$   
 $= x^{3} - 4x^{2} + 4x^{2} - 16x + 3x - 12$   
 $= x^{3} - 13x - 12$   
b)  $(5y+2)(y-9)(2y+8)$   
 $(5y+2)(y-9)(2y+8)$   
 $(5y+2)(y-9)(2y+8) = (5y^{2} - 45y + 2y - 18)$   
 $= 5y^{2} - 45y + 2y - 18$   
 $= 5y^{2} - 43y - 18$   
 $(5y+2)(y-9)(2y+8) = (5y^{2} - 43y - 18)(2y+8)$   
 $= 5y^{2}(2y+8) - 43y(2y+8) - 18(2y+8)$   
 $= 10y^{3} + 40y^{2} - 86y^{2} - 344y - 36y - 144$   
 $= 10y^{3} - 46y^{2} - 380y - 144$   
 $o) (2x+7)(4x+1)^{2}$   
 $(4x+1)^{2} = (4x+1)(4x+1)$   
 $= 4x(4x+1) + 1(24x+1)$   
 $= 16x^{2} + 4x + 4x + 1$   
 $= 16x^{2} + 8x + 1$   
 $(2x+7)(4x+1)^{2} (2x+7)(16x^{2} + 8x+1))$   
 $= 32x^{3} + 16x^{2} + 2x + 112x^{2} + 56x + 7$   
 $= 32x^{3} + 128x^{2} + 58x + 7$ 

▶ Image: Second Second





$$(2x+1)(2x-1)(6x+8) = (2x+6)(2x+6) = (2x+6)(2x+6) = (2x+1)(2x-1)(6x+8) = (2x+2)(2x+6)(6x+8) = (2x+2)(2x+6)(6x+6) = (2x+2)(2x+6)(6x+6) = (2x+2)(2x+6)(6x+6) = (2x+2)(2x+6)(6x+6) = (2x+2)(6x+6)(6x+6) = (2x+2)(6x+6)(6x+6)(6x+6) = (2x+2)(6x+6)(6x+6) = (2x+2)(6x+2)(6x+6) = (2x+2)(2x+2)(6x+2)(6x+6) = (2x+2)(2x+2)(6x+2)(6x+6) = (2x+2)(6x+2)(6x+6) = (2x+2)(6x+2)(6x+6) = (2x+2)(6x+2)(6x+2)(6x+6) = (2x+2)(6x+2)(6x+2)(6x+2)(6x+2)(6x+2)(6x+2)(6x+2)(6x+2)(6x+2)(6x+2)(6x+6) = (2x+2)(2x+2)(6x+2)(6x+6) = (2x+2)(6x+2)($$

